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Unless otherwise specified, numerical answers should be exact.

F lsﬁﬂ Part A
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Write the answers on the spaces provided in the answer sheet.

1 IR P ABCD RLET -] ARG | R 7R o R 47 ABCD 9l FLEL
136cm © :f+= 7Y ABCD FUf A -

In the figure, rectangle ABCD is formed by 7 smaller identical rectangles. The perimeter of
the rectangle ABCD is 136 cm. Find the area of the rectangle ABCD.

A D

2. [ R IRREE T D Lom ORI > 0 g - 8 S R 60 SR IR
W13 o o -

In the figure, two paper strips with a width of 1cm cross over each other. The angle
between these two strips is 60°.  Find the area of the shaded region.

60
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[R'FITABC kL~ [W5IF = #17%> M AL BC Ry [&ﬁ AE U= RL BE iV 2 fﬁ ' £AAFC
AU ARL 6 > TFAAEF A7 o

In the figure, ABC is an acute angled triangle. M is the mid-point of BC. The length of
AE is twice that of BE. If the area of AAFC is 6, find the area of AAEF.

A

Rl 2009 ]’ﬁ*’J‘?FEWﬁJEIfJ% o BRI 1R 1000 {3 15| 801 fit 1 E T
RLEFEf ot = DIl 2D S e =Rl b 801 AL/ 1Py 2

There are 2009 identical colour balls, of which 1000 are red, 801 are yellow and the rest
are blue. In order to get at least 801 balls of the same colour, what is the minimum number
of balls that must be drawn?

1 1 11
5] AT, —tot—+
ﬁﬁ( 3 4 2009)( 2 3 4 2008)
—(1+1+1+l —)(1 1 l+A+ L
2 3 4 20092 3 4 2008
Calculate (1+1+l+ _)( l Lr_ i
2 3 4 2009 2 3 4 2008
CTIE I UL B VE S G
2 3 4 20092 3 4 2008

1 )
ST x4+ — = 35 3 x* +3x° —16x® +3x+ 2009 fiufif
X

It is given that x+t= 3, find the value of x* +3x® —16x* + 3x+ 2009.
X

HKMHASC 2008-09 P.2



P.3(6)
7. DA = 6% E s R 2000 05 0 BN 53 DO AR 2T 55 RL 99
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The total score of twenty-three students in a test is 2009 and no two students have the same
score. Among them, the highest score obtained is 99 and the lowest score is A. Find the
smallest value of A.

8. —

B #5- [ i 5ra2000b » £ FSE 12 TR - o B Ui -

If B is a 6-digit number a2009band is divisible by 12, find the greatest value of B.
9. ’

Llf(:]:[(SX_i_l)ZOOB + /(y_5 =0 > (TJQ‘XZOOQ % yZOlO lzlfjﬁﬁj .

It is given that (5x+1)%% +./(y —5) =0. Find the value of x%% x y2*°,
10.

X - TR 2 P L (RSEAEIERET L of x g i -

If x is a positive integer and x? is the sum of the squares of 11 consecutive integers, find
the smallest value of x.

1L R T REREI AR
FOATACB R CES L 5 NI 42 R
FIFCIATAZE S S B ST 105 KA
PO B > B ﬁ@%ﬁ%ﬁ'
UG CZE A > B S 2 AT

Divide a certain number of pencils among students.

If the pencils are distributed to classes A, B and C, each will get 42 pencils;
if distributed to class A only, each will get 105;

if distributed to class B only, each will get 98.

If the pencils are distributed to class C only, how many pencils can each get?
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12. SRR B REE o Ul Rl *Qfﬁpﬂhﬁgﬁ”%ﬂ‘*ﬂﬁgUE@WJWﬁ;Jﬂ
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The age of Tim’s grandpa is a two-digit number. When the two digits are reversed, the age
of his father is obtained. If the difference between the ages of his grandpa and father is 4
times Tim’s age, find Tim’s present age.

13, [LI‘%‘J'?J\Q{‘; T R T Tom EJ[E”FFE‘ Fkgg Fl1 o g r%“ﬁﬁ 8cm » }H i~ 6cm ~ f# 9cm
Wl 15.4em O BR8N xR F*z% T fr gl Fﬁéa Fle B
%J‘X‘” W A A % b em ? (?VTC:%)

Pour water into a cylinder with a radius of 7cm until the depth of water is 8cm high. Then
a rectangular iron bar with length 6cm, width 9cm and height 15.4cm is put into the
cylinder so that it is vertically standing inside the cylinder. Suppose no water is leaked,

22
what is the rise in water level in cm? (Take =« ——)

14, RHAH (X -x=D) =1 fORTE ROAT
Find the sum of all roots of the equation (x* —x—1)*"?*® =1,

15.  [W'Hr ABCD 7' AFGE RUH PR 47 » BDAYR 7 AFGE o7 ERRYHIG - g Ryfifpipy
FFR TR lem® AT 49em” o = 57 ABCD fiUf 7

In the figure, ABCD and AFGE are similar rectangles. BD cuts AFGE into two parts with
areas 1cm? and 49cm? respectively. Find the area of rectangle ABCD.

D C
B 1\&(‘7
s N
49cm”
A F B
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16. Bl 12,3, 4%, 2008, 2000 1> |9 1005 HLY A S EE M
RN 1004 SEY AT BB SN o T M - Nl

In the sequence 1, 2%, 3%, 4% A , 2008, 20097, let the last digit of the sum of the
smallest 1005 terms be M and the last digit of the sum of the greatest 1004 terms be N .
Find the value of M — N .

17. 2009 £ 2 5] 7 FIRLES o (I~ il 2 71 7 FURLE S9T4 Puflifi— i 752

February 7 is a Saturday in 2009. What is the next year nearest to 2009 such that February
7 again falls on a Saturday?

18. MBI 4 [ ACB fiUjf i £ 2cm e '] O, % O, KR[E-C R BN E ARG 72 o ) O,
[gjl,qﬁfj[gjlﬁfjﬂ(‘ ,’g o (’FATE;(»FIJ”E\L;L‘?({ ° )

In the figure, the diameter of the semicircle ACB is 2cm. The circles centered at
O, and O, have the same radii. Find the radius of the circle centered atO,. [You can leave

the answer in surd form.]

- P -
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Answer the foIIowmg questions with full solutions on the spaces provided in the answer sheet.

19.

20.

21.

a—%@%%wqﬂﬁ@%ﬂwﬁ%fj@»@—@m@—&%ﬁﬁ@%ﬂw@w@
_ z‘gfg*gqg;é e [f‘ SRS S A il Tt i ul{[lri TR
SRR I L S ﬂﬂ’f_ﬁimﬁ MESED > 710 B HRLGTS ¢ DIR

In a chess competition, 10 players are divided into a certain number of teams. Each player
of a given team plays one game with each player of all the other teams, while players
within the same team do not play among themselves. It is known that 31 games have been
played at the end of this chess competition. What is the number of teams in this

competition?

711,2,3.4,5,6,7,8,9 2 419 fi+ —ﬁ9%%"@W%ﬁwﬂ%®%@W@
N B RS PR R n B o (H o o SR Iﬁ%ﬁ“ﬂ‘ B o)

Use ALL the nine digits 1, 2, 3, 4, 5, 6, 7, 8, 9 to form a nine- d|g|t number such that the
number formed by the first n digits, counting from the left to the right, is divisible by n.
[Hint : You may find out the possible three digits in the middle portion of the number first.]

(a) mqgm[ , E[E = ¥, ABD x> ADC fye i 55 ][ FL l1cm? ® 4cm?e =
ABC FL&T £ = £7 > 3f BD podsifel fifi -

(b) s~ AT {7 55 HIES 1 om?® v 4 om? Uit ]2 £ R S i €= £ ABC
IEIJ— 3B (*“A;j( P AR o)

(@) In the flgure the areas of the right-angled triangles ABD and ADC are 1 cm? and 4 cm?
respectively. If ABC is an obtuse triangle, find the range of values of BD.

\\’3

(b) Find the length of the three sides of a right-angled triangle composed of two
right-angled triangles of area equal to 1 cm? and 4 cm? respectively? [You can leave

your answer in surd form.]
A

4cm
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